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Research and Design of Adaptive Intrusion Prevention System

for Co-stimulated by Danger Signals

XU Hui, XU Chen, CHENG Xue-yun, PENG Zhi-juan
(School of Computer Science and Technology, Nantong University, Nantong 226019 )

Abstract Intrusion prevention system is a new information security technology which can supply a gap of the firewall and the intrusion detection

system in the information security domain. As work in-line, IPS faces with many challenges, such as bottleneck of data detection, false negative and

false positive. This paper proposes a new way trying to solve these problem, which is called Adaptive Intrusion Prevention System co-stimulated by

Danger Signal(DSAIPS). Experiments show the primary effects.
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